A & R @ =

£ A H 28 £ 9 H 23 B HHI9E4S

A # & PR FCALET %1520 20138 =

I 5 & 5 E-41

I %= 4 ROBLE - BRERBBERETSE

I = & P #CALET RRE - BIR A

FE i & (Brid) 20,521,080 M  As#wsids @i 19,001,000 A
B & HI R ffi 4% (B 3A) 18,241,200 H  As=tesfms (B4 16,890,000 M

FREHE(BR) 19,494,000 H H& %% (Bt4k) 18,050,000 M

XEA AW #E e #&

HR=4 HEMHE 18, 050, 000 &Lk TE
=REH HAsu 18, 100, 000

AR #HAM 18, 500, 000

RnEsE #HAxu 18, 690, 000

rAst AT 18, 750, 000

HrAst THME 18, 800, 000

REEX KAzt 19, 000, 000

WEEER HARH —|EE

EEEAFLERICI007 DSICHHL T HEEZME L - EEA IR EHRA L
DEHAA IR DMEETH D,




